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Full Marks : 100

The figures in the right-hand margin indicate marks.

Time : 4 Hours

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five of the following: 1x5=5
Q-G 2H5Te emsm Tew mie ¢

a)  Who holds the view that universals are mere

names?
AT G0 TNNG— G2 Tfo F?

b) What are the two types of impressions
admitted by Hume?

28w wer @ it et Few e G
7 el & f5e

c) Write the name of any one book written by
Kant.

F fofes @@ @b 90E JIN @2 |
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d)

g)

h)
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Who has maintained a distinction between

primary and secondary qualities?
T4 € (MY TG AT (& FIPI PR 2

Name the principle on which truths of reason

are based, according to Leibnitz.

MBS e, JfawTd Toyslel @ Fifeq esa
#fsfre o7 w1 T I

Who holds the view that body and mind run

parallel to each other?

AT 9 T ANGIRTSIE beT— 47 &
AT 2

What are the three different types of ideas
admitted by Descartes?

(TS (@ For 2P LIFela S A0, Tl
IEREX:

Who among the Greek philosophers would
hold that a table is a copy of the ideal table?

Mo mfema T @ O3 GRe ol
GRe afewmet qeE?
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Answer any ten questions: 2x10=20

Q- Wi 2 Ted Tis ¢

a)

b)

d)

g)
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What, according to Plato, are the different

levels of knowledge?
IR Mo @iws [ien wasl I e

Distinguish between 'Natura Naturan' and
'Natura Naturata'.

el TS’ @ B aFfe’T Wy AL F9 |

What is demonstrative knowledge, according
to Locke?

EE MO AT I FIF A0 2

Give an example each of 'truths of reason'
and 'truths of fact'.

Iy ey @ AR [RTF Moy — aa
AT A0 I SHIRe M€ |

Define substance, after Descartes.
(TFE(F SRPTRe I T A 7S |
What is solipcism?

SRTFAM 2

What is meant by pantheism?

A FT0e I QR 2
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h)

i)

k)

D

What is meant by synthetic a priori
judgement?

sFesiE TS o IS F @RI ?
What is meant by 'esse est percipi'?
‘ofey eer® €9 (Esse est percipi)
— g L 2

What are the three kinds of knowledge,

according to Spinoza?
PeitTers Ste @i for ooe wd 6 e

What are four kinds of causes, accepted by
Aristotle?

RPE FFO b &R IR F Fl 2

What is knowledge according to Plato?

@EE e @ 2

Answer any five questions: 6x5=30

Q- #Avs ame Tex we ¢

a)

b)
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Explain after Hume the difference between
'Relations of Ideas' and 'Matters of Fact'.

BT TOIPNE QT 7o G EF
[AFT W OFIL FI2

Distinguish between analytic and synthetic

judgements with examples after Kant.

FIGE TPA FE CWIRAR ReEE @3
TREFS SREAER 2N e |
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d)

g)

h)
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Explain and examine the role of God in

Berkeley's philosophy.
IRFETE WA SR efst ARG i F9

Discuss Hume's view regarding the necessity

of causal relation.

SICETIoe 4 |

Explain after Leibnitz the nature of monads.
How Leibnitz explains that monads are

windowless? 3+3

BT TORPIE TACTF F2 [ 1
el srRRa— «ft sizafte e

JACrA 2
Explain after Descartes the criterion of truth.
(CIICed eyl fefm wawe® i 74

How does Locke refute Descartes' theory of

innate ideas? Explain.
TE IO (TIST AZES (NI e
JIS— IR <A |

Explain after Aristotle the relation between

'form' and 'matter'.

SHATOETE TORPIE SoMe @R SIFIET
ToAF P T
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4.  Answer any three questions:

15%x3=45

@-@e foals 2mg Tea wie ¢

a)

b)
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i)

ii)

iif)

What is innate idea? 3
TGS GIFe FIe

How does Locke refute the doctrine of
innate idea? Explain. 7

AF FSIE TLEC IFNOG ITe (I 2
[T F |

Examine how far Locke is justified in
refuting the doctrine of innate idea.
5

qAreg 4T A e I IeFe ?
[ERGI

Explain, after Hume, whether there is
any necessary connection between

cause and effect. 10

JIF 8 FIT W I TRARF 755
(R 61, REA(F SPRe (A 1 7 |

What is Hume's own view about causal

relation? Explain. 5

I 8 FIEF NGFR 795 [ Bowa
ey e e W [
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d)
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Explain, after Spinoza the theory of
substance. 8
AT A A G<og T 9 |
How is substance related to attributes?

Explain according to Spinoza. 7

T3y IONF @A AfRe THFIE 2
PRI SRae I AT 9 |

Explain, after Descartes, the criterion
of truth. 10

RISF SR (A TOTOIF T 11
3|

Examine, how far the criterion of truth

i1s acceptable. 5
4T TG FOTL A=A o o 4|

Explain Aristotle's doctrine of four

causes. 10
INRPOGER BT IR ©F ARG T

Can you reduce them into two causes?

Explain. 5

auEeE & 7o e wmeieie Fhce
AN 2 TR <1



